12

12

12

/JJH—-—‘J/‘/ (L}LJL.AP)("" L’)U‘?LJ
AF & 010

( Part - | d_,l dizas, )
Attempt any SIX parts: Zéﬁ'ﬁ’{.
Detine identity matrix. -g:r.__.:gﬂ}?gr.._.r’b'dfﬂ.
r. R == o | . .
Find the product: [6 ”I[ T [0 “J[U_} fgi:{':‘”fﬁl_,l"’t
simphify: 125 LT __-Ejﬂ
F n 3 AR 43 "
Stmplify: 5= (5 5 -r—{:'?z]'j' r_:";-./‘j

11 opd = 04771 and log 5 - 0.6990 _ then find value of log 45 | ,E'i‘r,»h‘.;__‘fj log 43 dy log 5 = 1.6990 4 log3 = (.477] j

Evaluate: 102312 to the buse 22 log512 1o the base 242 :,_;j;flﬂ,b*‘;,f
Reduce rational expression to the lowest torm: f?{x s %E;_:% E?P;_,,f:hﬁg,:ﬁ;;fli&b

Stmplify: % 125 ; V128 é,ﬁ
Factorize: 2557 + 16 + 40 B LR 11 S Y '3
Attempt any SIX parts; ?g‘,{gﬁlzi{:
Lise factorization t¢ find the square root oft - 4x* - (2x +9 WSS el
Solve the incqualities: 4% 3= -1 %  He Ry E‘E":-ﬂuliﬂ --;E;fﬁ@};,p/é
Detine strict inequalities. *E‘:‘_’:J_if/;ﬁ/:.ﬂ*:w;’:}:r:“
Write the given equation in the forms of ¥ = mX +c i-I+y=0 -‘“'dgu:uﬁd’ y T mx +¢ f.:.aljl.rﬂ&{h
Define collimear points. _,;‘_-‘;f_@ﬁjggjg!ﬂ
Find the distance between two points: A3 =) B3 .-4) AL TD B3 ,-4) -.;;J:’!ﬂ:l*'.l;ﬁ&yﬂs’w?zf;:j_:
Define equilateral triangle, _g;ﬂ_@ﬁd;ﬁau&md,ﬁ
What is meantby AS A = AS.A7 "T'.::..JL/"L-I.:_. ;HJ’_ = i- ;_,,' J
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I one angle of paratlelogram is 130, find the measures of its remaining angles?

Attempt any SIX parts: I:;i.ld"rfi’.'h?:
Detine concurrent lines. e .._.ﬂ/’ r!*{.b,wf
Deline proportion. -.:‘::ﬂ...n-*/U._..fo

-wu LJJ._"«.L?JJ S5cm s 3om < 2om fé:.ﬁ::.u

Zem, 3cm and Sem are not lengths of a triangles. Give reason,

State Pythagoras theoren. - f-: = oo LZLEH‘

_.;J’LJL‘:’LA’L&{,MF-..»..‘M.::FH,.IL! ¢=34cm 4 b= 30cm « 4= l6em JT:...L,JJM
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